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10.

INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR
MISSING PAGES OR ITEMS, ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST
BOOKLET.

ENCODE CLEARLY THE TEST BOOKLET SERIES A,VB, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE IN THE ANSWER SHEET.

You have to enter your Roll Number on the Test
Booklet in the Box provided alongside. DO NOT
write anything else on the Test Booklet.

This Test Booklet contains 120 items (questions). Each item is printed both in Hindi
and English. Each item comprises four responses (answers). You will select the
response which you want to mark on the Answer Sheet. In case you feel that there is
more than one correct response, mark the response which you consider the best. In any
case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided.
See directions in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Shect the response to various items in the
Test Booklet, you have to fill in some particulars in the Answer Sheet as per instructions
sent to you with your Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the
examination has concluded, you should hand over to the Invigilator only the Answer
Sheet. You are permitted to take away with you the Test Booklet,

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

(i) There are four alternatives for the answer to every question. For each question for
which a wrong answer has been given by the candidate, one-third {0-33) of the
marks assigned to that question will be deducted as penalty.

(if) If a candidate gives more than one answer, it will be treated as a wrong answer cven

if one of the given answers happens to be correct and there will be same penalty as
above to that question.

(iii}) If a question is left blank, i.e,, no answer is given by the candidate, there will be
no penalty for that guestion.
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‘ A -
Directions :

The following seven {7) items consist of two
statements, Statement I and Statement I1.
You are to examine these two statements
carefully and select the answers to these
items using the code given below :

Code :

fa) Both the statements are
individually true and State-
ment H is the correct
explanation of Statement I

(b) Both the statements are
individually true but State-
ment II is not the correct
explanation of Statement I

(¢) Statement I 1is true but
Statement II is false

(d} Statement 1 1is false but
Statement II is true

1. Statement I ;

The auditor gives absolute
assurance that material misstate-
ment in financial statements will
be detected.

Statement II

The auditor’'s opinion helps in
determination of the true and fair
view of the financial position and
operating result of the enterprise.

2. Statement I :

There is no specific auditing
standard for internal audit works.

Statement II :

Internal audit is an independent
and objective assurance and
consultancy activity designed to
add wvalue and improve an
organization’s operations.

N-DTQ-K-EQO/9A

. Statement I :

Verification of fixed assets consists
of examination of related records
and physical verification. '

Statement I :

Physical verification of fixed assets
is the primary responsibility of the
management.

. Statement I :

Steffi has entered into an
irrevocable agreement to purchase
machinery from Baker & Co. for
Rs 3,00,000. Steffi has recognized
the machinery as an asset and the
corresponding liability in her books.

Statement 11 :

Transfer of ownership and right to
the machinery has been bestowed
upon Steffi and as such she is
entitled to recognize it as an asset.

. Statement I :

Recurring transactions are those
transactions, benefits of which are
consumed within the accounting
year.

Statement II :

Recurring transactions are meant
for improving the earning capacity
of the business,

Statement | :

Shares can be issued at a discount
by a company at any time if the
Articles so provide and a special
resolution to that effect is passcd.

Statement II :

Usually shares are issued at
discount so as to ensure that the
issue is fully subscribed.
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7. Statement I :

In trading on equity, equity share-
holders may receive higher
dividend.

Statement II :

On debentures and preference
shares, only a fixed rate of interest
or dividend is paid.

8. Consider the following paragraph :

If the directors have power and
authority to bind the company, but
certain preliminaries are required to
be gone through on the part of the
company before that power can be
duly exercised, then the person
contracting with the directors is not
bound to see that all these
preliminaries have been observed.
He is entitled to presume that
directors are acting lawfully in what
they do.

The above paragraph refers to

{a) Constructive Notice
fb} Indoor Management
fe) Ultra vires

{d) Majority Rule

9. Consider the foillowing statements
about Balance Sheet :

1. It is always prepared from the
point of view of the firm,
company or business, and not
from that of its owners,

2. The financial relationship of
the business to its owmers is
shown in the amount of
capital, reserves and undis-
tributed profits.

3. It is always related to a period
of time,

N-DTQ-K-EQO/9A

Which of the statements given
above is/are correct? .,

(@ 1and 2 only -
(b} 2 and 3 only

fc} 1 only

(d) 1,2 and 3

10, Where income-tax laws allow deduc-
tion of only a part of an item of
expenditure, the disallowed amount
would result in

fa) timing difference
(b) internal difference
{c)] permanent difference

{d} legal difference - -

11. Until final settlement, the balance
due to a retiring partner is
transferred to

fa) retiring
Account

partner’s = Capital

(b} retiring partner’s Loan Account
{cj) Cash Account
(d) Realization Account

12, A company, dealing with greeting
card business and in the process of
expanding its business beyonc’i‘ its
regular products, has issued the
statement, “The social expression
business”. This may be termed as
its

fa) objective
{(b) strétey -
fc) mission

{d) programme

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




_‘7. Y41 ;

3 W =R #, 3R sl
21frr ST W A gehat B

o 11
foim td FftmE A | Faw B
S QUG NN W YTEE
T & |

8. Fefafd sgede w f=m i -

qfe (2wl & qrg st &1 9 F6 F
wiie td SiewR 8, fag 37 wikRal o7
Feifyd T w8 9sd, faa
IREwareTl &1 FA & F Oy
STHT 39edd 8, a6 el & ary afaer
F I e IF 3@ F g ey T
¢ & 7 ot srferwanss & g &
3reEr Tl 98 A8 FFIUT B F gFER
2 & RRvrs o w1 = o Rifteea
=ARR @ &/

I T=Re e gasd i &7

(@)’ TIATCHS A1

(b) ITAlE T

fc} TerTdia

(d) =gAd fram

9. qeM-13 % aR ¥ fi=fifed oAt w fmw

EE

1. 9T T990 GH, FO A SHIEE %
e & TR s wan & 7
3% wrdt ¥ i % srgEm

2. WIEE H 3HH @it % gy fadw

- gy, oS, omfge Piet
Ffaafa @t & ofmm # frard A
Bl

3. ﬂ%%ﬁm@wwﬁx@mﬁa
AL

N-DTQ-K-EQC/9A

IR wOE U @ RA-T/8 9@ /R
(a) e 1 3R 2 y

(b) Had 2 3 3

(c) &A1

(@) 1,2 3 3

10. sl o Frmt & e f e e %

| FAQ T W H FEA @ pd g @, A
sredfizpa wftt et ftorfiy @7

(a) HHE H H=R
(b} - AR ST
{c) TRt ST
(d) e e

11. aTi?m T g1 T fEw g 9w
TN H 24 Y FFI €A 2 87

(a) - e 8% T gRER % oo A d
() Fram @ 1 wEer & w0 o §
{cj g T H
(d) aqeht o &

-

12. TR w1 w1 g %R el T w
3, o Trafim It 8 | o ey
1 foear w0 ) wiear §, g w97 Il
form, ‘gt aifveafe s@E@’’ @
FYUA ! T Fe THA 87

fa) 3T A E IR
(b) 38 TR H g
fc) 30w H e
(d) WWWW‘

[P.T.O.

‘ Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




13. The first auditor of a company can be
removed by the

{a) Board of Directors of the
company

(b} Members of the company in
the Annual General Meeting

(c) Promoters of the company
(d) National Company Law Tribunal

14. If Opening Stock is Rs 10,000; Net
Purchases Rs 70,000; Wages
Rs 2,500; Carriage Inwards Rs 500
and Closing Stock Rs 15,000, what
is the merchandising cost?

(a) Rs 65,000
(b) Rs 83,000
{c) Rs 68,000
(d) Rs 73,000

15. “Insurance premium accrued but not
paid”—this situation will lead to

(a) increase in equity

(b} decrease in both equity and
assets

(c) decrease in equity and increase
in liabilities

(d) increase in cash flow

16. The objective of auditing is to see
whether the

1. financial statements are
prepared within the framework
of  recognized accounting
policies

2. propriety of all transactions are
checked and evaluated

3. financial statements reflect a
truc and fair view of actual
financial position

4. financial statements are
ahsolutely free from material
misstatement

N-DTQ-K-EQO/9A

Select the correct answer using the
code given below :

Code :

fa) 1,2 and 3
(b). 1 and 4

fc) 3 only

{d} 1 and 3 only

17. Match List-I with List-II and select

the correct answer using the code
given below the Lists :

List-1 List-II
{Table containing {Type of
Forms of M/A as Company)

per Section 14

of the Indian

Companies Act,

A.

B.

D.

1956)

Table B 1. Company limited
by guarantee not
having share
capital

Table C 2. Company limited
by guarantce
having a share
capital

Table D 3. Unlimited liability
company

Table E 4, Company limited
by shares

Code :

(o A B C D

4 1 2 3

(b) A B C D

4 2 1 3
(c) A B c D
2 1 3 4
(d A B C D
2 3 1 4
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18. Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-T List-II
(Forecasting {Application)
Technique)

A. Econometric 1.

Models

B. Sales Force 2.
Composition

C. Time Series 3.
Analysis

D. Regression 4.

Predicting next
quarter’s sales
based on four years
of previous sales
data

Predicting change in
car sales as a result
of changes in tax
laws

Seeking factors

that will predict a
certain level of sales
Predicting next

Models year’s sales of
' industrial lasers
Code :
@ A B C D
3 4 1 2
b) A B C D
3 1 4 - 2
0 A B C D
2 4 1 3
fd) A B C D
2 1 4 3

19. Which one of the following powers of
the Board of Directors of a public
company can be exercised by the
Board only with the consent of the
company in general meeting?

(a)

(b)

To borrow money otherwise
than on debentures

Extension of time for payment
of a debt due by a Director

N-DTQ-K-EQO/9A

{c}

(d)

To make calls on shareholders
in respect of money unpaid on
their shares

To issue debentures

20. Which one of the following statements
is true?

(@)

(b)

(c}

(d)

Capital expenditure does not
affect the profitability of a

concern but revenue expendi-

ture does

Capital expenditure affects the
profitability of a concern directly
but revenue expenditure does
not

Capital expenditure affects
the profitability of a concern
indirectly but revenue expendi-
ture affects directly

Both capital expenditure and
revenue expenditure affect the
profitability of a concern
directly

21. A steel fabrication firm receives an
income for service rendered by its
design engineer to a friendly party.
How should this be treated in the
Profit & Loss Account of the firm?

fa)

(b)

(c)

(@)

Should be shown as Sales
Income

Should ke shown as
Miscellaneous Income

Should be shown as Non-
operating Income

Should not be shown as an
income
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22. A qualified report means a report

{a) by a qualified auditor

(b) specifying qualities of the

enterprises

fc) wherein the auditor has stated
about the errors, irregularities
or frauds

(d} containing effectiveness of
management policies

23. ‘Teeming and lading’ implies

fa) auditors, their assistants and
other persons in the audit team

(b) concealment of cash collections
from customers

fc} examination based on vouchers

fd) establishment of the fact that
assets and liabilities exist as
per position statement

24. Which of the following statements

is/are correct?

1. A company can be incorporated
without signed Articles of
Association,

2. All companies must include the
word Limited’ in their name.

3. Government companies need
not get their accounts audited.

Select the correct answer using the
code given below :

Code :

faj 1,2 and 3
(b} 2 and 3 only
fc) 1 and 2 only
{d) 1 only

N-DTQ-K-EQO/9A

10

25. Consider the following statements

regarding strategic and operational
plans :

1. Stratcgic plans tend to look
ahead several years or even
decadcs. For operational plans,
a year is often the relevant time
period.

2. Often operational plans are
stated in terms that look
simplistic and generic. On the
other hand, strategic plans are
stated in relatively finer detail.

3. Strategic plans affect wide
range of organizational activi-
ties, whereas operational plans
have a narrow or more limited
scope.

Which of the statements given
above is/are correct?

(@ 1 only
(b) 1 and 3
() 2 and 3
(d 1 and 2

26. A new tea garden has incurred

expenditure in planting tea plants
and taking care and rearing them
for five years before any tea is
manufactured. The expenditure
incurred will be categorized as

(a) Deferred Revenue Expenditure
(b) Capital Expenditure
(¢} Preliminary Expenditure

(d) Revenue Expenditure
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-27. Match List-I with List-Il and select
the correct answer using the code

given below the Lists :

List-I
{Type of Error)

A. Errors of
Omission

B. Errors of
Commission

C. Errors of
Principle

-

D. Compensating

Errars

Code :
fa) A B

4 2
(b}l A

3 1
fcg A B
- 3 2
(d) A

4 1

N-DTQ-K-EQQ/9A

List-II
(Example)

. Wrong casting in

Cash Book

. Considering

interest on long-
term loan during
capitalization
period as revenue
expenditure

. Non-consideration

of goods cleared
from factory on
the last date of
the year as sale

. Rs 150 excess

entered in both
Cash Book and
General Ledger in
opposite side

C D
13
C D
2 4

D
1 4
C D
2 3

28. Reserve Capital is that part. of total

capital of a company which

fa) is kept as reserve to meet any
future contingencies

b} is set aside to provide fund for
capital redemption

{c) can be called only when the
company goes into liquidation

(d) can only be used for
redemption of debentures

29. Which one of the following theories/

models of motivation identifies three
types of basic motivating needs—
need for power (n/PWR), need for
affiliation (n/AFF) and need {for
achievement (n/ACH)?

(a) Reinforcement theory by
B. F. Skinner

{b) David C. McClelland’s need
theory of motivation

{c) Porter and Lawler model of
motivation

(d} Two-factor theory of motivation
by Frederick Herzberg

30. A prospectus which docs not contain

full information regarding price
and quantum of shares offered, is
known as

{a) Red herring prospectus
(b) Statement in lieu of prospectus
fc) Incomplete prospectus

(d) Abridged prospectus
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AEEFAT (n/ACH) ! T2 Ha 87

fa) o THo THR & THaeH g

(b) 2foz e Agaeeis w1 Aloko w1
sravEFal frg

{¢) wrTimon @ qiéL we e wiew

(d) Ssii gstert %1 s w1 s
o

30, W faw-ahE (sidaE), S s

e T W ft Fma oA R
I TE @ ], 1 Foan 27

() = 2ftn faaror-afye

{b) ﬁaw-qﬁw % T W HAH
(c) i fomeor-afiem

(d) e faermo-gbem
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31. Fixtures of the book value of Rs 2,500

sold off at Rs 1,600 and new
fixtures of the value of Rs 4,000
were acquired. What would be the
amount of capital loss if cartage on
purchase is Rs 5?7

{a) Rs 2,500
(b) Rs 900

() Rs 1,605
(d) Rs 4,005

32. Which one of the following actions

will not lead to misappropriation of
cash to the firm?

{a) Intentionally omitting to enter
any cash, which has becen
received

{b) Entering fewer amounts than
what has been actually
received

fc) Making fictitious entries on the
receipts side of the Cash Book

fd) Making fictitious entries on the
payments side of the Cash Book

33. In which one of the following cases a

partner of a Partnership Firm has
noe authority to act without the
consent of other partners?

fa) Buy and sell goods on behalf of
the firm

(b} Borrow money on behalf of the
firm by pledging the stock-in-
trade or without it

fc} Transfer or sale of immovable
property belonging to firm

(d) Receive payments on behalf of
the firm and issue valid
receipts

N-DTQ-K-EQQ/9A

34. Hewlett-Packard (HP) is the world-

dominant leader in its laser printer
business with high growth and high
market share. As per Boston
Consulting Graph (BCG) matrix, HP
falls in whijch one of the following
categories?

{a) Cash cows
(b) Stars
(c) Dogs

fd} Question marks

38. The competence of a company to

make contracts is decided by_its
fa}) Certificate of Incorporation
{b} Memorandum of Association
(c} Articles of Association

(d) Information Memorandum

36. Which of the following international

standards are going to be imple-
mented in India w.e.f, 01-04-2011?

fa) International Accounting and
Reporting Standards

(b} International Accounting and
Auditing Standards

{c) International Financial
Reporting Standards

(d) International Accounting and
Financial Reporting Practices
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.31. 2,500 %o WAI-H¢d H F&IR 1,600 %o
- B s T 3R 4,000 Fo HEA H T
e wifsfa fer ) AR wlie w gemd

5 %o 8, A1 st 1 A wf foeeht gfi?

‘(&) 2,500 %o
(b) 900 %o
(c) 1,605%c

(d) 4,005 %o

32. fr=fafigg § A Fa-dt e wf 6t T

% gfafraem &t o T @ Sf?

(@) 9 d Pl Tene offt 1 wfaf =i

| ST B8 &

(b) arEafeea B ww afy 4 w9l
$I wfaf® s

(c) Umg @ & witel f o Hidd
yfafeat s

(d) T&g T & WA it W FHedd
wfafeat s

33, frafaflaa 4 @ e o A § EEeEd
i & ger & fo s dRerl
E@%%m%uﬁﬂaﬁlaﬁﬁmﬂﬂﬁ
27

(@) 1 3T B A w1 w9 E

(b) H ! AR Q YA IR A1, Wik~
-2 * T e @ g e

fc) w8 I A wWR H R
DG REFD

(d) @i 6 AV PEH AW FAT 3N
Ju win 6 wie Feifva e

N-DTQ-K-EQO/9A
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34. a@zﬁﬁ(l{r’)@mﬁ?&wﬁ

ﬁﬁmm%ﬁaﬁﬁéﬁﬁﬁ
d9fg W = Fem SRR B &
AR WME (BCG) MuEh & IIgEn
HP fefaflaa 4 @ fem o goft & o
27

fa) &N F=Q
(b) wHE
(c) =M

‘T

(d) HER O

35. % Ferht &t dfeed a9 & amed foeem

Rifvwa gt 37

() 38F e & yHoT-u3 g
(b) T TR TG BT
(c) T Gei-FAHAN T

(d) TEH GII-FOA TR

36. 01-04-2011 ¥ wi@ # fF smidla

T ! ShEifaa foRan STom?
(a) STOUYEE TEERN @& i arE

(b) Sl e wd dEmhE
Liccs

() =gy faxfm fafén 7
(d) FIEE daEm we e fafén
o1 (BfFeaw)
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37. A decrease in net book value arising
on revaluation of fixed assets has to

38.

A

B.

be
(a)
(&)
(c}

(d)

debited to revaluation reserve
credited to revaluation reserve

debited to profit and loss
account

debited to capital reserve

Match List-I with List-II and select
the correct answer using the code
given below the Lists :

List-I List-iI
{Type of Asset) {Example}
Intangible 1. Gas wells

Assets

Fixed Assets 2. Preliminary
expenses

Fictitious 3. Patent and

Assets Trademarks

Wasting Assets 4. Generators

5. Cash bhalance

Code :

(a} A B C D
2 1 5 4

(b) A B C D
3 4 2 1

fc) A B C D
3 2 4 1

(d}

N-DTQ-K-EQQ/9A
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39. Which one of the following statements
regarding forfeiture of shares is not
correct?

(a)

()

(c}

{d)

Forfeited shares may be
reissued at a discount or at a
premium

The title of the new purchaser
is not affected by any
irregulanty in the forfeiture or
sale of the shares

Return of allotrmment of reissue {
of forfeited shares is filed with
the Registrar of Companies

Board may consider the
request from the defaulting
ex-shareholder for the cancel-
lation of forfeiture before thc
disposal of forfeited shares

40. What is the preferential order of
payments to the following in the
event of winding-up of a company?

16

1.
2.
3.
4.

Bank loan (secured)
Preference share capital
Debentures

Equity shares

Select the correct answer using the
code given below :

Code :

{a)
(b}
(c)
(d)

1-2-3-4

4-1-3-2

3-1-2-4

1-3-2-4

e, |



37. vl s & gfesd 8 Gaa @
| e | 3T drelt it W

() wriw Py 3 e wo =k -
(b) geas Tfy & i wen =fd
() = v TR Y@ @ We wE

ELED

(@) i ffa @ e wen i@

3s. gl M g ¥ gktm FRT @

Rt & A e T g W oyEm W
Wﬁﬁq:
Hht-1 -1
(afeeafat & wamw) (w=3TETun)
A. I afeeratfet 1. E-Fd
B. for ufgmfuat 2. TR =4
C. FrahE qfgmfyal 3. U= T e
D. gt qfewafwi 4, IR
5. {wg-3Y
*®he
@@ A B C D
2 1 5 4
) A B C D
3 4 2 1
g A B C D
3 2 4 1
@ A B C D
1 2 3 5

N-DTQ-K-EQO/9A
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39. f=fafige # @ - & T WTh F
el & 9§ we) ALt 27

(a)

(b)

{c]

(c}

Teq T W w2 9T S WEEm W
A o a8

¢ GTER w1 @ Nl Hi = @
facht & g orfafiman @ ot Al

fHffe swh Sl W et fer

. A% weEE ¥ FEiEE § wRe

o st B

a8 afasft ©d SRR F S=h
T HA & U W Wed WA &
figer @ vee e = g B

40, T & F gya H fufy 7 Fafafaa
i e S T e w0 sAftmEh ww
w4 87

1.

2.

3.

4,

s o (TfEr)
arftrrft P O
fes=r

A I

S A R T EE W owEm W s
g :

I :

(@)
(b)

{c)

(d)

1-2-3—4
4-1-3-2
3-1-2-4

1-3-2—4
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41. Consider the following statements
with regard to trade discount :

1. It is a reduction in the
catalogue price of an article.

2. It is allowed by the manufac-
turer or the wholesaler to the
retailer.

3. Entry for trade discount must

be made in the books of
accounts.

Which of the statements given
above is/are correct?

{a) 1 only

(b} 2 and 3 only
(¢ 1 and 2 only
(d) 1,2 and 3

42. Which one of the following is an
example of direct confirmation?

(a} Management gives certificates
of inventories held by the entity

(b) Supplier gives certificates
regarding balances held as
advance in their books

{c) Physical verification of cash
balances

{d} Reconciliation of bank balance

43. X Ltd. offers the right to its share-
holders to buy one share @ Rs 12 for
every four shares of Rs 10 each held
in the company. Market value of the
shares on the date of such offer is
Rs 27 per share. Identify the value
of the right '

{a) Rs 7
{b}) Rs 3
fc) Rs 12
{d) Rs S

N-DTQ-K-EQOQO/9A

44. ABC Organization, which deals in

search engines on the Internet has
mnovated a lot of other add-ons to
its portfolio which are well accepted
by the customers. It follows informal
communication, low formalization,
decentralized decision authority
with flexi time schedules and
collaborative approach. It is a very
innovative and creative organization
with lot of employee engagement
schemes.

What form of organization is this?
(a) Burcaucratic -

(b) Matrix

{c/ Organic

(d} Functional

45. Which of the following statements

is/are correct? T

1. If the Memorandum of Associa-
tion and Articles of Association
are inconsistent, the Articles
must give way.

2. Statement in lieu of Prospectus
is delivered to the Registrar
of Companies by private
companies, which are prohib-
ited from inviting public to
participate in their equity.

3. No company with unlimited
liability of its members can be
incorporated in India.

4. Courts cannot ignore the
concept of separate corporatc
entity under any circumstances.

Select the correct answer using the
code given below :

Code :
fa) 1 only
(b} 1 and 4

fc} 1,2 and 3
fd) 2, 3 and 4
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41. = @2 & Hed A Fefafad waAt w

foram AR

1. 7e Tl arft % wEf-mew = e
!

2. =g Pmfar @ o fha g g
T A Y R S 2l

3. sTies W < wiaf o g A
arav 1 o T

Inf sl § / F-w /R ud B8

fa) HFA 1

(b} Fae 2 3R 3

(c) Fad 132 .

(d} 1,23M3

42. Prefafes # 4 F9-T1 @ 199 ¢ =

JaTE 27

(a) WA hi TS ® TAVMS TE
g foa wmen &

(b) G JEIH F IUN %k 9 H A9 H
s qfderat & grr fean s @

(c) T3 WY T WeA& WA

(d) ¥ S| F gEyE

43, x fafipe 3 s fowms | wEt |
IF 10 To A4 T I W 4 790 W,

1 99T, 12 Bo Afd M AW W o &
e 1 e | 3e e i fafa

9 A 1 TR ged 27 Fo Wi W 2|

3 AR o gea w1 87

{a)

(b)

(c}

{d)

7 %o
3 Fe
12 %o
S %o

N-DTQ-K-EQQO/9A

44. ABC TV 3, W e § ud el A
A W 2, FW uwifermt # e
Fasfcua Afafe famwastt (add-ons)
F g 7@ Imireel g0 =t o' 4
e fe T T8 SFuEie wiv,
aeq  slu=riehewr, RfEa ol
TRER ¥ g T g wggE o
YRR IT0TH 1 ATEW F@T 2| A7
wF FitE wER uighe demst e
A Td-FEATH® Td (EATHEF €134
2l
72 8 TR F1.EE 27
(a) rRETE
p) A
) <fas
(d) FTTCHER

4s. Trefafiga T @ 9-61/8 21 w1 R/87
1. it Heuda T T e At
F I =anfa 2, 41 geen Satian

. oyt g
2. Pt wmfrt ¥ @, o s=m =)
st e # owm @ F R
IR A § wieetem g,
e & e w B osm

Fen s FAN Mg W
SR

3. wEE % srdifia ST awh 1 ot
Froft wia § Frofim ad f oW
Heheit |

4, =gmea fedt o oftfdrfa § etem
famfir wea <6t 30en 72 =X W |

4= Ru T gz W W W ol IW
g

%

fa) ¥4 1

(b} 134

) 1,233

d) 2,334
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46. Consider the following data : 48, Vouching refers to the process of

{a} determining the authenticity
and propriety of transactions

Purchases in chronological order

200 cases @ Rs 100 Rs 20,000 and checking their correct
200 cases @ Rs 125 Rs 25,000 recording in the books
200 cases @ Rs 150 Rs 30,000
Total Rs 75,000 {b) examination of the existence,
Sales of 360 cases possession and presence of
@ Rs 200 Rs 72,000 any assct
Which one of the following is the (c) the enquiry into the value,

amount of gross profit of the firm if
it follows FIFO system of inventory
valuation? {d} checking and verifying that
generally accepted accounting
principles are followed

ownership and title of the assects

fa) Rs 32,000
(b) Rs 22,000 49. Which one of the following does not

fc) Rs 42,000 relate to the issue of securities?
c s ,

{a) Book Building Process
(d)] Rs 11,000

(b} Initial Public Offer

47. Which one of the following statements
is correct with regard to the
liquidation of a sole trading
business?

{c/ Secondary Market

fd) Private Placement

. hi i
fa) The claim of the owner over the 50. Under which onc of the following

assets of the business entity
comes first

{b) The claim of other stakeholders
such as lenders, creditors and
suppliers comes at the last

(¢) The claim of the owner is
residual and his claim on
assets is subordinate to claim
of others

(d) Both owners and other outside
stakeholders have equal rights
on assets of business entity

N-DTQ-K-EQO/9A

principles of organizing is it stated
that the responsibility for actions
cannot be greater than that implied
by the authority delegated, nor
should it be less?

fa) Principle of absoluteness of
responsibility

(b) Principle of parity of authority
and responsibility

(c) Principle of delegation by
results expected

{d} Authority-level principle
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46, Fefafan srfeet W fTar FiRT ;

FAHHTIR @R 1Y
200 HE @ 100 %o 20,000 %o

200 ¥ @ 125 To 25,000 Fo

200 %" @ 150 %o 30,000 %o
FA 75,000 Fo

Tosht 360 Fq A
@ 200 %o 72,000 %o
Preatafgn & 4 -0 ofh wf =1 9w

@ 2, Ifé 98 FIFO s1a%en |/ ==
ediEA el 87
(a) 32,000 %o
(b) 22,000 %o
(c) 42,000 %o

(d) 11,000 %e

47. Tad FOR & wWwd & "o # fafafeaa

H{ FH-91 TF A G 87

(@) =EaE H oRwrfea & bed d
@it F I gegia: WEWHH I
2

(b) ¥ WHdcell W FHURHIS,
art @ et w1 g wed o
EEIGIR

(c) Erlt F <ET EATE R qwE I
aigmfedt & €@ o |mt H
I Tt g

(d) =R, @nft wa 3= well wenieet
W au™ st gimefE W oaEE
SYftrmr 2 '
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48, Yoo (afm) feuh ufea = Pifds

T &7

(a) oaaE H ymETfTRaT SR aitfae @
P aft o & T ud
uifEat it s

(b) Tt sty & sifera, et alix
Iofeurfa i ohen o

(c) uiwmfE % qeu, w@ftie i g
f S F®T

(d) ﬁavﬁa it g+ & Wy
- w0 wwd s fage 1 aeA
R

49. frafafen § @ fora & =1 wary wfotfa

& foia @ 7t 87

(o) T e v

(b) R wEEiE e
(c) Todaen =R

(@) e R

50. W31 & fr=fafaa i A @ g ww A

o1 T ¢ B owEl w e
TmiRtE witer @ fefie ol @
afrs 9d @ W, 7 B W HA A
=fRe?

(a) JAEIRIE Rt quiar w1 fagra

(b)) IERME R AfER A awar @

LA

(c) Tl oftomsl g YerEeE #

1Al
(d) fPT-TR fﬁm
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S51. Which one of the following pairs is
not matched correctly?

Error Effect on Final
Account

(a) If a nominal : Profit wiil
account is decrease or loss
wrongly given will increase
debit

" (b} If an item is . Profit will

omitted to be increase or loss
posted to the will decrease
debit side of
a nominal
account

fej If an item is : Profit will
omitted to be increase or loss
posted to the will decrease
credit side of
a nominal
account

(d} If a nominal ;  Profit will
account is . increase or loss
wrongly given will decrease
credit

52. Audit Programme is a

{a) set of audit procedures that
should be performed in order
to achieve audit objectives

(b} technique of auditing for
obtaining the evidencc required
by the auditor

N-DTQ-K-EQO/9A
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(c)

(d)

reply to the enquiry put forth
to corroborate the information
contained in the records

procedure employed to ensure
the separation of transactions
at the end of one ycar from
those at the commencement of
next year

53. Consider the following statements ;

1.

Put option is an option on a
common stock under which
the holder can buy a certain
number of shares of the
underlying stock  at a
prescribed price within a
prescribed period.

Call option is an option on a
common stock under which
the holder of the option can
sell a certain number of shares
of the underlying stock at a
prescribed price within a
prescribed period.

Which of the statements given
above is/are corrcct?

(a)

(b}

fc)

(d)

1 only

2 only

Both 1 and 2

Neither 1 nor-2
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Td 77

3k

(o) Ife frell 319-
=g °rd §
TTaa A B

(b) afe frdlt we i
yfafe sma-cam
@ F AW TE
aft g2 s

(c) TR el wg 1
wiafe sm-s1g
Qe Fi S TWH
K ETA I

(d) gfe fdft am3-
=g @ o
THd $ee B

51. frefafes gt # & Fr-w @ glem

s

s o
W AW

: oTH "2 S

IS T 98

. T =g S

3T BIH W

: EMEF@'G@TH

3T B TR

. Y 9 SR

AT B o
Eoni|

fc)

(d)

AheE A sfaffy el T H
g § f S ael SR
R

v e & e am frft ad &
sid g wERRt SR e ad &
o # g OSEEW W U@l
gifr =t o o e s &

s3. P Fert w fram BT

1.

e wiier, T @is w0 R s
aTen e feey @ ol uie qeivr
wWiw (underlying stock) % TF
v g &% IR Fuite 1o
R ww i T-dm § ale.
AT B

52. SrarliEn FEwT w27

(@) TEEeEn aFme W TR R
R Tl kG B TW F F
o e fopan st =nfE

(b) wEEdE A H aedee § R
ETadieE F g sTuia Wl g2
% ferm wgw foran < @
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2. ®HE AQE, A ©@E W forn
o aen 98 fawe § e sitam
YR JemeR Wis ft Fivee gem
% W, @ Ruff@ 7@ w ™
fuifa wm-dm § 5= a1

93wyl § @ BA-W/F 98 /37

(@) *&A 1

(b) FaA2

e) 1 aR2AA

- i

@ @ 1smAde
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54. Consider the following paragraph

and identify the organizational
development technique referred
therein using the code given below :

It is a method of changing behaviour
through unstructured group inter-
action. The group is made up of a
praofessional behavioural scientist
and a set of participants. There is no
specified agenda. The professional,
who is not to function as a group
leader, merely creates the opportunity
Jor participants to express their ideas
and feelings. What evolves is
discussion that focuses on the
individual = participant and their
interactive procgsses.

Code :

fa} Team building
(b) Intergroup development
f¢) Sensitivity training

{d} Process consultation

55. Consider the following statements :

1. Warehousing charges (used for
keeping finished goods) incurred
is a direct expense.

2. All direct expenses should be
shown on the debit side of the
Trading Account.

3. Carriage outwards is an
indirect expense.

4. All indirect expenses are
shown on the debit side of the
Profit & Loss Account.

N-DTQ-K-EQO/9A.

Which of the staten:l_ents given
above are correct?

fa) 1,2, 3 and 4
(b} 1 and 2 only
{c} 3 and 4 only
d 2,3 and'4 only

56. Match List-I with List-ll and select
the correct answer using the code
given below the Lists :

List-T List-1I

A. Statistical 1. Vouching
sampling

B. Government 2. Physical
bond verification
verification

C. Compulsory 3. Selective
leave given to verification
cashier

D. Trend analysis 4. Internal control

5. Overall
assessment
Code :
{faj A B C D
2 1 5 4

) A B C D
4 2

3 1
) A B C D
3 2 4 5
d A B C D
1 2 3 s

24
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54. frefefem ogede w fem g sl

suit gehilq dnaeds e walis @l
= R o e w1 WM =g

sRaffa #0 # ww gl &1 9% o
UF FEgiae NFERATE  dide Td
gevIfr Tl % wF o @ Affa gt 1 sod
#1¥ Rulfa et 787 &t smaafas
&wife, Rrd wgg @ 1 wify #=d 387

FGT 2, el & fom g faeR s

I JHE A & @A T g A
AT 21 TE9 W IW F A 8 98 &
s ==l o g wewrt 3R 3T
HARITF IFTA | Ff=a gidt 81
%2 :

(a) B A

(b} Sadgg =

(c) TAETIftorRT FET&w

(d) wifsea swmst

55. Tfiftaa wuat w = i

1. 'Wmm@ﬁarrﬁm(ﬁi@‘awm
W@ % forg @ fen s @) @
TAH T ¢

-2, gl YOy =W ANR @ H T
e fBam oM =il

3. it gard w stweay == 21

4. @l vy =g o 3wl A
% M e Ty W 2
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T T & A -3 o 3
(@ 1,2, 34

(b) Fa@ 1 3R 2

(c) Faa 334

(d} *ad 2, 334

56. G-I W TA-1I 8 gifem HRm qen

gt & f= Ry 7 g2 w1 @i = wd
Wﬁﬁlﬂ,:
L i G . -1
. wiferdg sloedt-mewr 1. yeEA (IrfEm)

. T €7 HeamdH 2. sfds g
. Uesied &t &g mn 3. IS

i

»

5. THI ATheld

fa) A B C D,
2 1 5 4

(b) A B ¢C D
3 4 2 1

) A~ B C D
5

@ A B
2

w0
o
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57. Which one of the following is a 59. Given :
contract for the purchase or sale of

i Sundry debt 1-1-2008 = Rs12,800
securities, for the performance of undry debtors on s

which no time is specified, and Sundry debtors on :

which is to be performed 31-12-2008 =Rs 9,800

ill'nrnediately or within a reasonable Cash received from debtors = Rs 6,400

Hme? ! Discount allowed =Rs 350

(@) Spot delivery contract _ Bills received from debtors =Rs 2,500
Bad debts =Rs 300

(b} Ready delivery contract

Bills dishonoured by debtors =Rs 400
{c) Forward contract

A

From the above. data, ascertain

(d) Option on securities credit sales
58. Consider the following statements fa) Rs 6,150
about the Path-Goal theory of
leadership : {b) Rs 6,000
1. It extracts key elements from
the  Michigan  leadership (¢) Rs 7,150
studies.
2. According to this theory, a (d) Rs 6,500
leader’s behaviour is

acceptable to subordinates to’
the degree that they view it as
a source of satisfaction.

3. It implies that the same lcader 60. Audit Notebook contains
can display different leadership
styles depending on the

fa} details of steps to be performed
situation. :

in the course of an

] ' . . examination
Which of the statements given

above is/are corrcct?
(b) a written scheme or a plan of

@ ) - 43 action designed by the auditor

a) 1,2 an

(5] 2 and 3 only {c) observations during the course
of examinations

fe; 1 and 3 only
) {d) accounting records and
(d} 2 only financial statements
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57. Frfafee § @ =@-w, vl & 3= so, fem ™ §

sy ey w1 w e 3, Rms
o ¥ fre % aw Huifa T ? ek 1-1-2008 & FEH &K = 12,800 %o
g s 3w T A 31-12-2008 Ht FTH IR = 9,800 %o
form st 27
B G o e T = 6,400 %o
(a) EFTR Gaar afear
STHd g = 350 %0
b) A ggat diee
{ ' el | W foe = 2,500 %o
dfaer
@ R = 300 %o
“ e THerd g el foa = 400 %o
It el F U T IUR W 6y ™
58. g@ & wil-wew feem % WR A fyer 1 Bt B
frafifea Fert v fEr fifw |
' 6,150 %o
1. =g fRme 39S st # ¥ wE - (@)
R | F (b) 6,000 %o
: firgr & AU, e
i :H%T{ wf f o fﬁﬂtmﬁ e fc) 7,150 %o
e e § el o 9 39 §gi *
Hﬁﬂ%wﬁ%@?@ b (d) 6,500 %o

3. g I@yd war ¢ T o o |k

% SIgET e~ Age- Aot 60. Saulan gt i =0 AR &7
1 Yeuiq = gHaT gl -

(a) fedt Thaw ¥ < Feafee A

o el & AA-w/d T B/ 5 a3 B

fal 1 2% B Sates SRR w

) ¥aw 2 3K 3 | ferflam whm areran -

(e} Heer.1 3R 3 (c) whenedt F A R dam

(d) a2 (@) o feid si Rt e
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61. Sweat-equity shares are the sharcs
issued to the

{aj directors or employces of the
company at a discount

(b) existing shareholders of the
company at a discount

fc) government, where government
is a majority shareholder

{d} public in general at a discount

62. Which one of the following pairs
about Management Information
System (MIS) and Decision Support
System (DSS) is not correctly
matched?

MIS DSS

fa} Emphasis on : Emphasis on data

data storage manipulation

{b) Reliance on : Reliance on
manager’s own computer expert
judgement

fc} Focus on struc- : Focus on semi-
tured tasks structured tasks
and routine
decisions

(d} Often onlty : Direct data access
indirect access by managers
to data by
managers

N-DTQ-K-EQO/9A
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63. Which of the following are the

advantages of Manager Inventory

Chart?

1. Managers who are close to
retirement can be identificd,
and preparations can be made
for their replacement.

2. It shows to what position a
manager may be promoted.

3. Future internal supply of
managers is shown by
indicating who is promotable
in a year or more.

4. Managers who do not perform
satisfactorily are identified,
and the need for training or
replacement is indicated.

Select the correct answer using the
code given below :

Code :

fa) 1,2, 3 and 4
(b} 1 and 4 only
{c) 2 and 3 only

(d} 1, 3 and 4 only

64, In respect of which one of the

following companies it is optional to
get Articles of Association registered
along with the Memorandum of
Association?

fa) Unlimited companics

(b} Companies limited by
guarantee

{c) Private companies limited by
shares

{d) Public companies limited by
shares
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61. We-3fpd I 3 R E, ) Frifva fd
SIGE

(o) wroft & fRweE @ el w),
LR -

(b) o &% aduE HRURH F, T W

c) WK Wi, &l TWHL TLEAF
TR B

(d) T &G & AT H, g5 T

62. V&Y gEl sgaedr (MIS) 3R foig wera

63, frfifigs # @ =-0 yeus 9 9%
&% 9|V &7

1. fufafa % feke o © veeust &
qEEE R S gl 8, IR T
yhreme ¥ R &t A s T
2

2. g feEm ¢ & et yaus = fea
T2 o urAa fore s wedn B

3. 0w ¥ W oafm # Neh-de
yauh R S FQ G TR H
wieft arrifeas gfef =i g S R

4, FNSHF FEGEET 7w G
YEUE R UgEEl WAl 8 2R
" yfhaw e wforenum it STEvEeRdl
i@ <t < B

2 Ry TR g W W W OEE I

1t {DSS) F an # Frfafas g+ A 3
¥ FH-T1 T gHfer A€ 87 |
e ¢
MIS DSS f@ 1,2,334
(a) SFgt & @I8 W At & M- (b) Faet 13N 4
a R = (c) Faw 2 3R 3
(b) TEUF F I o e friivy | (d) 3@ 1, 33 4
Frofa i fagams ICECIES .
| 64. Frerafiag sfd 3 f5u & F R §
fc) et <t a1 . ad-geE i W Hen wera % Wy wen & srwafiant
foreradf ol w FZa o S T A 27
e (a) STEIfG Frafi
(d) S SR G Ve s ) T g A et
el a% +ad a% el qg= B © it g e e
e (@ =l g it aEwte wafr
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Directions :

The following four (4) items are based on
the data given below :

Mr. X started a business with an opening
inventory of Rs 26,725 on April 1, 2009.
During the month of April, 2009 he
purchased goods worth Rs 1,62,505, paid
salaries Rs 5,575, postage Rs 4,226, wages
Rs 23,137, rent and taxes Rs 5,831, fuel
and power Rs 1,350. On April 30, 2009 he
had Rs 12,550 worth of inventories unsold.
He had furniture worth Rs 7,250 in the
beginning of the month and a depreciation of
Rs 725 is to be charged for the month of
April, 2009. Total debtors in the beginning of
the month had been Rs 50,725, out of which
Rs 1,025 is to be regarded as bad. Mr. X is
also estimating that 5% of the remaining
debtors are doubtful. Goods of the value of
Rs 1,500 have been destroyed by fire and
the insurance company has admitted claim
Jor Rs 1,000. Total turnover during the month
amounted to Rs 2,52,400. Mr. X had kept
Rs 5,200 aside for provision for doubtful
debts in the beginning of the month. An
amount of Rs 100 has been accrued as
interest on investment.

65. What is the amount of gross profit
earned by Mr. X during April, 2009?
fa) Rs 54,083
{b) Rs 52,733
{c} Rs 51,233

(d) Rs 64,705
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66. What is the amount of net profit

earned by Mr. X during April, 2009?
(a)
{b)
{c/ Rs 37,166
(d}

Rs 37,666

Rs 24,152

Rs 42,152

67. What is the amount to be transferred
to Profit & Loss Account on account
of ‘provision for bad debts’ for the
month of April, 20097

(a)
(b}

{c} Rs 1,690 Cr.

()

Rs 1,690 Dr.

Rs 1,960 Dr.

Rs 1,960 Cr.

68. What would be the balance of

‘debtors’ as on April 30, 2009 to be
shown in the Balance Sheet?

(a)
(b)
{c) Rs 50,200

(d)

Rs 49,700

Rs 2,485

Rs 47,125

69. A Sccret Reserve may be created by
{a) overvaluation of inventory

(b}

showing real liabilities
contingent liabilities

as

fc) distribution of goodwill among
partners

overvaluation of liabilities

(@)
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ﬁu:r%f@aanmm:ﬂ%ﬁummv

- €

M

aﬁxfrzaqﬁa 2009&7726725%%377?@35
o B syEEry YRR ) ale, 2009 7% %
SR I 1,62,505 % @ F W @l
5,575 %o & 9a4 & ©9 H, 4,226 To &I SHEH
F ®F H, 23,137 %o '# WIgd ¥ ¥ F,
5,831 ®o 1 faxrd R =4 F Y 4, 1,350 %o
mé’waﬁzﬁa#}%ﬁmgﬂm%mrsoaﬂa
2009 F FaF UG 12,550 Fo F AfAfEd A
o7 HIE & SRP § 38 GG 7,250 To FT FAK
o7 3 725 Fo FT TF g If, 2009 F fE
A WA il WE % YRe A FE aaER
50,725 %o & 9, fd, @ 1,025 %o 3y 7R
1 81t X ¥ 9 ot agEr & % ardht dvend 7
5 yfywia |y &1 1,500 %o F wwa o
P F 7% g TEr 3R & e A 1,000 o
T wWfer fR g1 @ oA # Pl
2,52,400 %o g¢I 8t X 7 5,200 o @lw Ful
F1, 30941 F F forg wme & gpew F aem w@
ﬁquoomaﬂaﬁrﬁéwwm%mﬁm

'§:ff g1
65 5t X g s, zboé iiaﬁa Haﬁ Gk
y o, ) T AT .o
it {a) 54,083 %o TR
(b) 52,.733 Fo . ..
(c) 51,233 %o

(d) 64,705 %o
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66. i X 3w adw, 2009 * fsfa Faw wmw
6 ufdn w0 7

fa)
(b) 24,152%

37,666 %o

) 37,166 %o

(d) 42,152 %o

67. we )&, 2009 F foau ‘e =N F
e’ Il we # @ 3 @ @ H
ﬁm‘!r&mﬂﬁ@:ﬁaﬁﬁ?

(a)
(b}
(c) 1,690 %o Cr.

1 690 %o Dr.
1,960 %o Dr.

ar,

(d 1,960 %o Cr.

68. 30 3, 2009 = gor-ud # fe@rn s

I ‘TR @ R wb gn?
(a}
(b)
(c}- 50,200 %o

()

49,700%
'2,485 %o ,
SREYEY

47,125 %o

69. T W iy ffy wim o g @

() =T % i g

(b} arEatae el W WEAEE AT
% w9 | fomm

(o) wreET % o wE & R g
fd) TRt & SrferpEeR g
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70. The provisions of ISO 14000 and

ISO 26000 are associated respec-
tively with

{a) environment and social
responsibility

(b) product design’ and social
responsibility

f¢) environment and product
design

(d} social responsibility and
productivity

71. Consider the following statements :

1. Frederick Taylor's machine
view of people and organization

was essentially an open-
system perspective.
2. An open-system  approach

recognizes the dynamic inter-
action of the system with its
_environment.

Which of the statements given
above is/are correct?

fa} 1 only

(b} 2 only

fc) Both 1 and 2

{d) Neither 1 nor 2

N-DTQ-K-EQO/9A

72.

73.

74.

Given that the reserve for doubtful
debts stood at Rs 1,500 on
January 1, 2008.°The bad debts
shown in the Trial Balance during
the year amounted to Rs 500. On
December 31, 2008 sundry debtors
owed Rs 14,000. Provision for
doubtful debts is 5%. What will be
the debtors’ balance in the Balance
Sheet?

(aj Rs 13,300
(b} Rs 13,000

{¢) Rs 13,400

(d} Rs 13,500

A debit may signify
fa) decrease in asset account
{b) increase in asset account
{c) increase in liability account

(d) increase in capital account

Consider the following &tatements
regarding dishonour of bill of
exchange :

1. The burden of noting charges
ultimately falls on the acceptor.

2. Inland bills are to be noted
compulsorily.

3. Noting of bill is optional in case
of foreign bills.

Which of the statements given
above isfare correct?

(@) 1 only

(b} 1 and 2

(¢ 1 and 3

(d) 2 and 3 ,
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70. 1SO 14000 ™ 1SO 26000 wE: fe
graf@m 87

(o) i @ amiiieE <
(b) IR fFey v gk qle
{c) TFERY uE Ieurg AfirEney

(d) wmmrﬁat[amm

71. Frafeiga sweAt w foam il

1. Wefm IJw wr wrm oeft wwed
geft s & aftled g

2. A AT WM, JFel H,
IEF  qgEOT & |, i
AR B EER a2

I FA! § § B-T /8 Tl /87 |
fa) F9E 1

. {b). a2
(¢ 13dR23F

(d) T 13MmAE 2
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72, T T g 6 GRw w0 % e smida
Cffr 1 Smad, 2008 | 1,500 To R
W Waw-w (gEw aeh) | Rad w,
af ¥ dm, wfew wot £ afy 500 Fo
ofi1 31 Rmmr, 2008 t Fea F=_H
el 14,000 Fo off) GRW WO w:
TEHH. 5% T | gem-a3 # Rant
1 A T e

(a) 13,300 %o
(b) 13,000 %o
(c) 13,400 %o

(d) 13,500 Fo

73. A0 () | TN TTer B Wk @7

() afemfy w § wf
(b) ufmmfy @ # 3t
(c} <am @md A FiE
(@ theRiafy

74. fafm-m N ol & el
Fafafas et w e fItR

1. Frod v 1 R 3= el
W vEal g

2. <y faet @ feoqe afErt R
3. faR faet o R A 2

S weEl § @ wE-En/R 9E R/
@) ¥ 1
(B} 132
fc) 133
(d) 233
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75. Consider the following aspects of

organizing works in a fast-food
restaurant :

1. Cooks and servers at the drive-
up window coordinate orders
by means of computer
printouts and two-way radios.

2. The crew members who serve
customers may be thought of
as working in one department,
while those who cook may be
in another department.

3. Work is divided between those
who cook burgers and those
who make fries, for example.

4, Some pcople report to other
people and take orders and
advice from other people.
Servers who are in training are
lower in the hierarchy than
are assistant managers, for
example,

Which among the following is the
correct logical sequence of steps in
organizing the above restaurant?

(@) 1-2-3-4
(b) 2-1-3-4
(¢) 3-2-4-1
(d) 3-4-2-1

76. Consider the following statements

about the nature-of Limited Liability
Partnership (LLP) :

1. The LLP can continue its
existence irrespective of changes
in partners.

2. No partner is liable on account
of the independent  or
unauthorized actions of other
partners,
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3. Minimum seven pariners arc
required for formation of an LLP.

4. LLPs are rcgistered with the
Registrar of Companics
(appointed under the
Companies Act, 1936) after
following the provisions
specified in the LLP Act.

Which of the statements given
above are correct?

{fa) 1 and 2 only
(b) 1,2 and 4
fc) 1,3 and 4

{d) 2 and 4 only

77. In which one of the following cascs,

appointment or reappointment of
auditor or auditors shall be madc
only by a special resolution?

{a} In case of a company in which
not less than twenty-five
percent of the subscribed
share capital is held, whether
singly or in combination by a
nationalized bank or an
insurance company carrying
on general insurance business

() In case of a company in which
not less than twenty-five
percent of the subscribed
share capital is held by a
forcign company

{c} In casc of a company whose
twenty-five percent of the
subscribed share capital is
held by its Directors

(d) In case of a company whose
twenty-five percent of the
subscribed share capital is
held by other corporate bedies
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75, TH GIZ-FE & A wA F WEA &
Frafafiaa wegett w famm Hifvw

1. grEa-3w fagdht w, @A iR
e g wrgel fe-amee ok
Zath e ) wewar | A s
F1 T A B

2, TS WEW Wl UEH B TE 8, T
vm % 9 ® AW S "k B, SEi
Wﬁmémﬁmuﬁaﬁﬁl

3. JERONY, W 99A 96l R BEA
I Al % S FE & 3T T

4. FB A = A w O W g,
3 3 <t ¥ oy @ e o
£ @ % w9 # Qe 9@, &
aoft widigw w ® ¥, duEwe &
qEES Teuh! @ A E)

g Tl & Fd H Gled A § =TI
= wdt ghege agwy Prafifes A @
HHA-F1 27

(a) 1-2-3-4
(b} 2-1-3-4
(c) 3-2-4-1

(d) 3-4-2-1

76. iftm @i @R (LLP) # Wi %
it § Frefefea o w =R it

1. LLP =mw Ak, #ERd #o
ofe= @ oy, ot v |t B

2. @Y UEER 3 WEEN % Ead
YT AfFRa FEl % e el T
BT
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3. LLP & 7ed & o #0-8-%m 9@
HIREl R AT B 2

4. LLP = qeftsRtor, LLP sifyfam &
AN R ATe FrA (Frf
sififm, 1956 ¥ ot Fges) &
GIERSCIRS

304 woEl § @ F-F | §7

(a) @ 1 3R 2

(b) 1,234

¢ 1,334

(d) Fad 2 3 4

77. TreafaRaa 4 @ Ty e ffa 3 cravdies

srgan st B FRRe @ @FHghE
Fad us 9w veaE gw @ & sedi?

fa) @ weaft i ffa & ol wn-G-Fw
25% 1T IR gSht, et St

- ugw w9 @ T wliaea S st
g i AER R aeh e
ftm gt & arfereem i |

(b) 38 wef i e A sl w9-a-am
25% iy v o forelt faReft
Hul % IR | 8@

(c) 3w A feufs § Fwdh 25%
afigg = Gt oo fowml &
wftrem &

(d) 38 we & fRyfa & Fedh 25%
AR v S o fmfr freerdt
& Aftmn 4 |
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78. Given :

Opening stock = Rs 50,000
Sales = Rs 1,50,000
Carriage inwards = Rs 10,000
Sales returns = Rs 10,000
Gross profit on sales = Rs 60,000
Net loss = Rs 10,000
Purchases = Rs 1,00,000

f

Purchases returns Rs 9,000
What is the value of closing stock?
fa} Rs 61,000
{b) Rs 50,000
fc Rs 48,000
(d) Rs 71,000

79. Which one of the following does the

balance of the Receipts and
Payments Account indicate?

faj The total cash payments
during a period

(b} The total loss incurred during
a period

{c} Cash in hand or bank balance
on the date of the balance

{d) Excess of income over
expenditure

80. According to which one of the
following conventions of accounting,
stock-in-trade is valued at market
price or cost price whichever is
lower?

{a) Consistency
(b} Materiality
-+ (c) Conservatism

(d) Full disclosure

N-DTQ-K-EQO/9A

81. Duty drawbacks are extended to the

exporters by the
fa) Ministry of Finance

(b) Ministry of Commerce and
Industry

fe) Ministry of Corporate Affairs

{d) Ministry of Micro, Small and
Medium Enterprises

82. Consider the following paragraph

and identify the scheduling
technique referred therein using the
code given below :

It shows output level, both planned
and actual, over a period of time. It
helps the managers to identify when
tasks are supposed to be done and
compares that to the actual progress
on each. It lets managers detail
easily what has yet to be done to
complete a job and to assess
whether an activity is ahead of,
behind, or on schedule.

Code :
fa) Load Chart
{bj Gantt Chart

() Programme Evaluation and
Review Technique (PERT)

{d) Break-cven Analysis
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78. T & . 81. ﬁahaﬁaﬁa‘rmﬁmiﬁwamm

Wl @i = 50,000 %o JECRE L A
CER = 1,50,000 %o (a). Tore s
ITEE gATS = 10,000 %o C A L .
R I = 10,000 %o (b} T T T AT
fowa Wwdei @ = 60,000 %o . (o ﬁwrqumr—ﬁwwaa
fraa w1 = 10,000 %o ' ‘ R
o (d) TER, €YU weEw g e
ER) = 1,00,000 %o e
g ol = 9,000 %o :
A9 T (T wieh) B g w7

'82. ﬁm%ﬁaaugﬁamﬁwﬁﬁaaﬁnﬁ%
g w f wEEa & g afia
(b) 50,000 % e i 1 et

(c) 48,000 %o _

@) 71,000 %o 98, & FEE & arH, Baf ok
Frafa® QT IR wRI I <wIar 31 98

SaUF] FI A S 4 A7 A &

Fr] B f w8, SR I fem

{a) 61,000 %o

79, WA wd yram s@ & gon Frefafag &

& - O e &2 i . . i w8 T 2
fa) Tordl gaasa # R M wa Tos -WW%‘?W&W?HT?@T
ey EIE] ' Wﬁaﬁmaﬁmﬁwﬁ%waﬁt
(p) Tt woerre i g€ 391 TR RN FC 2 3R 77 InFe FE o B
{c_)‘ ger it fafy @ gy v sty o= ﬁs‘wzt?ﬂzfaq#awﬁq‘)émmai
(d) 3T 1 W INEET - ' : iz ﬂ -
80. frfufan ran wiefedt & @ B w5 (@) TRW

IR, T Wis H1 7, am ke

37FE] T A, aﬁﬁﬁﬁmﬁw () A==
T TR ST 37 . fc) . FrE i ofR grlam wfafu
(o) W . .o e Eee e e
(b) T . (PERT)] . .- g
(c) wleam= : (d). HgeR-T - fawemel  (3e-gad
(d) T ¥wA TwRfE)
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83. Which one of the following contracts 84. Given :

is ultra vires ? . .
. Subscriptions received

. during the year 2008 = Rs 7,000
{a) The Memorandum of Associa- Sub.scrlptlon‘s oytstandlng
_ ‘ at the beginning of the
tion of a company defined
. . p year 2008 . =Rs 1,400
its objects : “To make and sell, e .
. : ; . Subscriptions outstanding
or lend on hire, railway .
arri d b d all at the closing of the
c‘ riages an wagons and a year 2008 = Rs 1,600
kinds of railway plant, etc., to
carry on business- of mechan-
ical engineers and general What would be the amount of
contractors”. The company subscriptions to be credited to
entered into a contract to Income and Expenditure Account of
finance the construction of a the year 20087
" railway line in Belgium
- (a} Rs 7,200
{b) A railway company having sole :
p object of running business of
carrying goods and passengers {b/ Rs 7,000
by trains owns rail-road ' "
| ) carried over arches. The fc¢) Rs 8,400
! company converts arches into
! shops and lets out those shops

to tenants (d) Rs 8,600

(c) A railway company having 85. When a new partner does not bring
authority in its Memorandum Goodwill in cash and Goodwill
of Association to kecE vessels Account is raised in the books at
for the purpose of a ferry uses full value, in what ratio the amount

vessels for excursion trips to will be distributed to the old
sea when vessels are otherwise partners?
unemployed

fa) Equal ratio
fd A failway' company having sole
object -of carrying on business () New profit-sharing ratio
of running goods trains enters
into a contract to sell the hay

which grows on the banks of fe} Sacrificing ratio

railway lines laid by the -
company (d) Old profit-sharing ratio
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83. Ffafea wfaet 4 @ F-w
. orfemdia 27

(@) TH FEER A AW AT Y@ d
N g # afenfe fe— Yl
PR 3 T q el W F W
T AMR T, 99 9 PR W
FF B aEE g FEE
3 Afeoem § = e WA & i
%1 oo = 1 wider TR

T o o, e e R
HreT AR A W gw oA |
W 1 HIH™ FAT B, 39 @A
R EifE W S CAEE WO
ST | W §9 AgUE! B ghE

(b)

A a5 gl 2 SR I gEEl W

et P W R R

TF @ AT S 3O HEE
TOE T, A9 AEE % e °
SErs @A+ (e Wit B, @@
ST 1 s g faem amn
o a3, 99 A SE 9 ITEm
% 7t o @ B

(c)

T e wA, e s 3R
e 9@W & H9q™ w2,
FHrt R il Yo & e I
o I S 67 T GfeE i B

()

N-DTQ-K-EQO/9A

39

84, ﬁ_mw%:

aﬁqzoosémaﬁmﬁ = 7,000 %o -
F§ 2008 % TN § FFHET AWM = 1,400 Fo
ﬁzoos%mﬁmaﬁm - 1,600 %o

T4 2008 F foru ¥ o =g @@ #

T H A ael aAiEE @ il

B ' :

(a] 7,200 %o
(b) 7,000 %o
(c)” 8,400 %o

(d) 8,600 %o

85. 3f T AT ORER THe ¥ gAM TE AT

s gm dn, gt d ol g W
xitan T 3, @ T AR # i R
srqura 1 faafa anft? R

'{a} U ST A
(b)-m}?«rm.—aawagmaﬁ |
(c) quaﬂcrmﬁ
(d) gﬂﬁmaammaxgmaﬁ
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86. A system of internal check is 88. X, Yand Z arc sharing profit and loss

supposed to be operational in any in the ratio of 2 : 2: 1. Z retired and
business organization when his shares were purchased equally
fa) an employee is spcciﬁcal[y by X and Y. What will be the new
assignéd the task of checking profit-sharing ratio of X and Y? .
the work done by another
employee/employees
(b} the departmental head checks (a} 1/2:1/2
the work done. by his
subordinates
' fb) 3/5:2/5
fc) outside experts check the work
done by employees

({d) one employece of the ‘same . fc) 2/5:3/5
. department checks the work
of another employee while
discharging his duties in fd 1/2 :2/5
routine office procedure

87. Match List-I with List-II and select
the correct answer using the code

given below the Lists : 89. Given below are some of the

factors influencing the amount of

List-I List-1T centralization and decentralization
{Principles of (Explanation) in an organization. Identify the one
Insurance] under which more centralization is
A. Uberrimae 1. Immediate cause desirable
Fidei
B’ Insurable 2. Promise to
) Interest  ~- compensate loss fa) Environment is more complex,
" C. Indemruty 3. Mutual trust ’ uncertain
D. Causa 4. Legally recognized
proxima relationship
(b} Company is geographically
Code : dispersed
fa) A B C D
) 3 ? 4 1
) A B c D {c) Orgamze_itlon is facing a C'I'ISIS
1 9 4 3 or the risk of company failure
{c) A B ¢C D
1 4 2 3 (d) Corporate culture is more open
{d A B C D to allowing managers to have a
3 4 2 1 say in what happens )
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86. Frft saamis wiea § wriafls ity & 88. X, ysmzemanafiiio. o 1%

qae ramefiet arft ot 2, s FgOa § welt }1 Z dged @ fgm @
(@) Bl wierd = s il T AR IS WP A X ARy 3 Tua
wioted ¥ w4 B g w1 w59 Glte *rET X 3R Y &1 791 v -Hewee
ferdt =9 @ da ™ AT T g
(b) ﬁwﬁaﬂ@aﬂﬁmﬁmﬁﬁmm
U %1 Y S T & @ 1/2:1/2
c) am fostay wd=nfen g fre g
% i wie #a g
(d) 3@ faam = s s, A o) 375 :2/5
FHEAT HEEY T 33 IaEfa! :
%1 frafe +0 & ar-my frdt s fc) 2/5:3/5
T % %1 B JE wa |
87. g1 | -1 ¥ gAkw Afm @ (d) 1/2:2/3
gt % IR fe g = o w wd
Wﬁm:
-1 -1 :
- SQ.WWﬁWﬂaﬂz%ﬁW%
(e o Rrgr) (o) o 3 P A T g a AR
A, fogama 1, dehTel RO fay 7 &1 3 @ vm uw W wEhy Sl
(7t fel) e sl s S
B. dm-arafedm 2. gl R gl w
EEE .
C. 3 - (o) wEtaer sfe wfem, afifem @
D. fr=e ¥ 4. fafa g o=
(=isr WD) T (b} o siriiiE v & fwia &
T
@ A B C D (c}) TS FHFIEEH H AT L T A
3 2 4 1 ‘o wt fawern # Afew W
‘) A B C D AT T T R
1 2 4 3
[l A~ B C D
1 4 2 3 (d) woft gepfa T W oNmd
d A B C D it I } B worww, e &)
3 4 2 1 nfafaftren & et va @
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90. The Articles of Association of a
company required that all deeds,
etc., should be signed by the
Managing Director, the Secretary
and a working Director on behalf of
the company. The plaintiff accepted
a deed of mortgage executed by the
Secretary and a working Director
only. Which one of the following
statements reflects the correct legal
position with reference to the above
facts?

fa) The company would be held
liable to the plaintiff on the
basis of doctrine of Indoor
Management

(b} The company could be held
liable on the basis of doctrine
of estoppel

{c) The company could be held
liable to the plaintiff who acted
in good faith and whose money
has been used for the benefits
of the company

(d} The plaintiff cannot claim any
rights under the mortgage deed
event if he had not read Articles
of Association since there is
constructive notice of Articles
of Assaociation

91, A firm is expected to yicld a profit
of Rs 5,00,000 and the general
expectation is 16%. If the value of
net assets of the firm amount to
Rs 21,00,000, what will be the
value of its goodwill calculated on
Capitalization method?

{a) Rs 31,25,000
(b} Rs 21,00,000
fe} Rs 10,25,000

{d) Rs 1,25,000

N-DTQ-K-EQO/9A
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92, What would be the estimated value

of inventories as per variable
sampling method, if the total
number of items of inventorics are
2012 and the total sum of value of
340 items taken as sample is
Rs 3,10,080?

fa) Between Rs 18,44900 to
Rs 18,44,950

{p) Between Rs 18,44,400 to
Rs 18,44,450

(¢c) Between Rs 18,34,900 to
Rs 18,34,950

(d) Between Rs 18,34,400 to
Rs 18,34,450

93. X and Y are partners in a firm. Z is

admitted into the firm with 2/9th
share of profits, Z brings goodwill
premium of Rs 7,200 in cash, X, Y
and Z agree to share future profit/
loss in the ratio of 4 : 3 :2. What
will be the amount of goodwill
premium to be credited to Y’s
Capital Account?

fa} Rs 3,600
(b} Rs 1,800
{¢) Rs 5,400

(d) Rs 7,200

94, How is “unclaimed dividends’ shown

in the Balance Sheet?

{a) As provisions

(b} As reserve and surplus
{cj As current liabilities

{d) As miscellaneous items
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90, TH wR & we ¥ i ¥ eTgdR,

Tl forat iR w, wErh fit @i @,
vy frewres, wfem ol o Frid e
¥ TR W ARl A A Faa afw
W T FEE fRyE gu feafka
Tum-fca # @er fen Freafafa
# |/ BA-T OF HUF IGE qeAl & wa
7 |ét s feufa gwiar €7

(@ weE st T ¥ R %
YR R A & 9 et gEt s

(b) ool fommam % fagra % eMuR W
<t A S et 2

o) = it & wfe gt ot o el

. % e wefmEm & w0 fRn el
o W= =t % T % fon
g R .

[d) I Fus-faeg * =rfa Redt
TSR 1 QT 2T X Wehd W& Bl

3 e % srbtm 1 3 8 wifs

TG WO % rAMTEl F GRS
qfeT 2 '

91. TF ®5 R 5,00,000 %o = TV 24 Hl

e @ R W Il 16% ) af
v A FEw dewls = g
21,00,000 %o q, @ qeheww ugha @
Wﬁﬁm@%wm@w
—@rn?

(a} 31,25,000 %o,

(b} 21,00,000 %o

 {¢) 10,25,000 %o

©(d) 1,25,000 To
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92; sl whrerm fafy & ogew Tma =

TrEfeTd e wO g, Al wa i wE R
@mzom%aﬂtmﬁasmuﬁ

' %r@mwsﬁgs 10080’50%?

(@} 18,44,900 %o ¥ 18,44,950 %o
& iy ’

- (b} 18,44,400 To W.18,44,450 Fo

& e -

' () 18,34,900 %o d 18,34,950 Fo -

&+ =

(d) 18,34,400 %o @ 18,34,45C %o
< -

93. X oMy @ wi d widen §1 z  wd

@l & 2/9 o % iy e e
S ¥ Z AT WY 7,200 Fo HI GAH
e 7t # @@ 3 X, v 3w z
sl o it @R oW 4:3:2 &
| I R e & foe wewa € Rl Y &

o tﬁﬁé@ﬁmiﬁwﬂwﬂfﬁmﬁ

i wan gelt?

. .{a) 3,600 %o
(b} 1,800 %o

{c) - 5,400 To

({d) 7,200 %o

94, gaq-qaﬁ ‘a1-grl STl W fRH YR

frgmen s 87

(a) TTEYUE % € H

(b) ﬁwﬁﬁaﬁtmﬁﬁw%wﬁ
(o) o T H e

(d) Wl 7t F F9 H
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95. Consider the following statements :

1. Marine insurance poelicies are
valued policies and the market
fluctuations are avoided. In
case of fire insurance policies,
doctrine of indemnity is
followed and only the market
value of the property at the
time of loss is compensated.

2. Marine insurance policies
cannot be {reely assignable
whereas fire insurance policies
are freely assignable.

Which of the statements given
above is/are correct?

{a) 1 only

(b) 2 only
(c) Both 1 and 2

(d) Neither 1 nor 2

96. In which one of the following
situations, the doctrine of Indoor
Management would apply?

(a) Directors of a company
borrowed a sum of money on
bonds from a bank. The
company’s Articles of
Association  provided  that
Directors might borrow on
bonds such sums as may from
time to time be authorized by a
resolution passed at a general
meeting of the company. The
shareholders of the company
claimed that there had been no
such resolution authorizing
Directors to borrow money.
Bank relies on doctrine of
Indoor Management

N-DTQ-K-EQO/9A
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(b)

{c]

{d

Directors of a company issued
debentures to themselves by,
lending Rs 20 lakh to the
company without assent of the

-general meeting in spite of the

fact that Articles of Association
of the company required prior
approval of general meeting
for lending money to the
company on debentures beyond
Rs 10 lakh. Directors seek
protection of doctrine of Indoor
Management

Articles of Association of a
company provided that Board

* of Directors could delegate to

any person power to exccute
transfer deeds of company’s
property. X accepted a transfer
of the company’s property from
its accountant. X pleads
doctrine of Indoor Management
to hold company liable under
the transfer deed

Z was the transferee of a share
certificate issued under the
seal of a company. The
certificate was issued by the
company’s Secretary who had
affixed the seal of the company
and forged signatures of two
Directors. Z wants to hold
company liable by pleading
doctrine of Indoor Management

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




95. Frafafea e w fa=Er HiR

1.

g et Wit e ottt

& R w9l IaR-"gE 1 9iER
grar 81 A <fim wifefeEt o ek
T gfqd & frerw w1 qer few
S 8 ot Faw wwfy % @l &
T W Y=o W qed B @

wiogfd it seft 21

R & affafear g w1 @
e =t it o wodt, safe wfy
Hffr wifafEl gw ' @ agRlim H
ST et & |

I woA! A W-E/A gl /87

{a)
(b)
(c)
(@)

Had 1

FIa 2

1 ¥R 2 i
Td 1@ 2

96. Ffciflaa o @ foq w fafe ¥ s

T (FER Awe) @ faga e

am?
(a)

T S F TR T T i @
U € W 3R ot et %
T & SraHadt T 3Iusy o
e sfe w ot ofy suw @
T & 8 werE oy 39
#, TH-TUT 9, TF GFed TIid F
it fer T @ wEE &
RURHT 3 T e e Fewe
W 3R @7 @ Wiftgha G 9
T+ g9 Td wim e
oT| S i Tary & figma

Pl wEn
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(b)

{c)

(d)

FR F fRwel 3 wedht =@
- 20 T TIU FH B/ SH AW -3
=1, forn amamm wan it sgmiy %,
o it e, 56 7o % TR
e #Fooelt & gen ¥ e ¥
HFER FHIH] Sl FOGH | 10 TG
e § oftes /W [ F o
¥ql o QAgEIRT EvEE o
Ry A wery & g
TeeT aTEd &

FOA F T FA<HET IqY
@ & & Fryw-vea fft =afe
F A i iy W g
fom fooRRs =0 it wfw
T X ThaT 21 X 3 Hee
F gy S TR IF AGER
¥ i=wr X @ s
foe & fofu Fraft &t grft 91 v
e o % g = o
ERGIE

Z, =t ) | % st Feife
T WA YHTGS T Bt 21 A8
WENE wE @feg g frive
e T R el B fa an
i & fRwret & el wwmar frw)
Z i e % e w1 e
T FHAE el S T
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97. Out of which of the following sources

a company may purchase its own
shares or other specified securities?

1. Free reserves
2. Securities premium account

3. Proceeds of any share or other
~specified securities

4, Proceeds of an earlier issue of
the same kind of shares or
same kind of other specified
securities

Select the correct answer using the
code given below :

Code :
fa) 1 and 2 only
(b) 1, 2 and 3

fc; 1 and 3 only

(d) 3 and 4

98. Interest paid on debentures is shown

in

fa) Profit & Loss Account

fb)} Profit & Loss Appropriation

Account

fc) Balance Sheet under the
heading ‘Current Liabilities’

Balance Sheet as an addition
to the Debentures Account

{d)

N-DTQ-K-EQO/9A
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99,

SEBI, in recent times, has made it
mandatory for listed companies to
disclose to the public the number of
‘Encumbered Shares’. What do
such shares mean?

(a) Shares held by promoters

{b) Promoters’ holding pledged
with lenders

{¢/ Shares not issued by the
company

{d) Preference shares

100. Which one of the following is not the

right of the statutory auditor of a
company?

(a)

Access to books, accounts and
vouchers

(b) Attending Board Meetings
{c/) Attending General Meeting

(d)

Visiting branches of company
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97, fr=faflaa idi § @ et A =t w2

aﬁﬂmammﬁrﬁﬁﬁgﬁfw
wlig vl 87

99. SEBI 3 3« # gHEg wwlgl & fig

s ‘aifte S’ "em W adeis
Wehed A o fZar ¥ 1@ ud |

3Ty 87
1. o anfia Py

2. wffeat diftrm Sran

(a) WEHH & O GG AW
3. Wt @ o faffde Refeat w '

wiftt
(b) FETAST % ™ e @ yade &
4, I wHR F AU arean et yHRK R I
3y faffe sfwfat & wea R
R frimm it mited

c) T Hﬁ"?ﬁlﬂw
¥ Ry m $ F W W EH W ) -

EELE
() AR oW
He |

fa) *aa 1 3R 2
() 1,23M3
c) et 133

100. F=fafige & @ #9-wr w ol =t &
, wifdfus Sevediges w1 wftew =i 87

(d) 334

98, RuEt W R IR 9ren = ferad Raman
ST &7

(a) maﬁmﬁ@ﬁﬁ
(b) < R gl ffrsE o ®

() gEa-w3 A, ‘= A I &
I

(a) Sfedl, Sranadl v aE=d aw AIfrm
() = dit F3Hi T IufRm B

(c) WU gl i IfEE B

(d) FoI-9x #, H9F @ F TH

arfefers & (d} ot Y wrEet § s
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101. Who appeoints the auditor of a
Government Company?

fa) Shareholders in the Annual
General Meeting

fb) The Comptroller and Auditor
General of India

fc) Government on the advice of
the Comptroller and Auditor
General of India

{d) The Comptroller and Auditor
General of India is responsible
for audit, therefore, auditor is
not appointed

Directions ;

The following four (4) items are based on
the data given below :

A limited company offered for public
subscription 10000 shares of Rs 10 each
at Rs 11 per share. Money was payable
Rs 3 on application, Rs 4 on allotment
(including premium), Rs 4 on first and
final call. Applications were received for
12000 shares and the directors made
pro rata allotment. Mr. X, an applicant for
120 shares, could not pay the allotment and
call money; and Mr. Y, a holder of
200 shares, failed to pay the call. All these
shares were forfeited. Out of the forfeited
shares 150 shares f{whole of X’s holding
included) were issued at Rs 8 per share.

102. What is the amount of money
received on allotment?

{a) Rs 40,000
() Rs 6,000
{c) Rs 34,000
(d) Rs 33,660

N-DTQ-K-EQO/9A

103. With how much amount ‘Securitics
Premium  Account’ - shouid be
debited at the time of forfeiture?

{a) Nil
(b) Rs 500
f¢; Rs 100’ )

(d} Rs 1,000

104. What is the total amount of money
received by the company on forfeited
shares (excluding premium)?

fa) Rs 1,670
{b) Rs 1,560
{¢) Rs 1,660

{d} Rs 1,650

105. What is the amount of capital profit
transferred to Capital Reserve?

fa) Rs 360
fb} Rs 630
{c/ Rs 660

{d) Rs 300
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101, mm%é@wﬁwﬁﬁgﬁﬁaﬁq
H»Tcn%?

'(a) mﬁammamﬁ :’mm@
(b) A %1 i U e

fcj Y & Frdsw @ ey hi
T8 T, TEHN

{d) WA % FEgs @ geeEndys
waEmian & forg swerht 8, s

. wahes £ fighe T & e
fAdw ;
ﬁnﬁfﬁaﬁwmm:ﬁ%ﬁqwmw
Aumia €

@a?ﬁam??#ma’aﬁem#ﬁm%ﬁrqwﬁ
10 %o NfY VR F7 AIA 10000 F9F F 11 Fo
gl ¥R T EAET AT GE w5 AT 3 o
AP F G, 4 To HEHA F gEF (NhEw

wled) ik 4 Fo yeq aur swfan Hir (Fa) w

gy ey 12000%%@317@3?%@#&
Faw! 3 FuuE e fRaT) 120 YRt & T
ATF At X, aFeT AR ain afi (Fa 7)) #7
YA 7& 9% 9R; 3k 200 YT * 9nE ot v,
7N R YA w8 GGl @) et i &
HHIET F form Tt wvgga WA # @ 150 w0
(X & oft R i ) &1 8 %o ¥fa ok
w foffa 1 fRar mm)

102. & T I U = 87
(@) 40,000 %o
(b} 6,000 %o
(c) 34,000 %o

(d) 33,660 Fo
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103, ‘i Witrm @’ ®Y, Fauemr & @,
frecht ofr & T (3Fe) e =
=Nfea?

(a} XA
. (b) 500 %o

v () 100 To

(d) 1,000 %o

104. guugd 90 W (Sfiftem e ) weh
1 W FE Ui fawert 27

{a) 1,670 %o
(b) 1,560 %o
fc} 1,660 %o

(d) 1,650 %0

105. qf;ﬁwfaﬁﬁfﬁﬁﬁsﬁmuﬁwm
-t 37

fa) 360 %o
(b) 630 %o
{c} 660 %o

(d) 300 %o

o [P. T.O.

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




106. If an auditor becomes subject to any
of the disqualifications as specified
in Section 226(3) and (4} of the
Companies Act, 1956 after his
appointment

(a) the appointing authority will
ask him to vacate his office

fbj the Company Law Board will
ask him to tender his
resignation

{¢) he will be deemed to have
vacated his office

{d) the Institute of Chartered
Accountants of India will
terminate him from office

107. Under the asset-liability measure-
ment approach, profit is measured

by

{a) matching revenues and
expenses during the reporting
period '

(b) the change in net assets during
the reporting period

fc) matching assets with operating
incomes and expenses during
the reporting period

(d) the change in assets and
liabilities composition as on a
given date

N-DTQ-K-EQO/9A
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108. Which one of the following duties' of
an internal auditor is not a specific
duty?

fa} Evaluation of the performance
of setvice departments and
ascertaining their productivity

fb) Examination of the delegation
of authorities and accountability
of the key officials

{c} Carrying out investigations suo
moto or as desired by the
management

(d} Periodic verification of asscts
and liabilities

109. The following journal entry appears
in the books of X Co. Ltd. :

Bank A/c Dr. 4,75,000

Loss on issue
of Debentures
Ajc Dr. 75,000

To 12% Deben- .
tures Afc 5,00,000

To Premium on
Redemption
of Deben-
tures A/c 50,000

What is the rate of discount at
which the debentures have been
issued?

(@) 15%
(b} 5%
¢} 10%

(d) 20%
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Eac)|
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109. X #ot fafves #i afzgl o fatafam
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9% Alc

T & frfna
W Afc Dr.

Dr. 4,75,000 %o

75,000 %o
12% 99T A/c F

AU & YT R
Sﬁﬁl’&tlA/c?ﬁ

5,00,000 %o

50,000 %o

HoR A 92 h e < 9t Foffie e
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{a) Il15%
B 5%
fc) 10%

(d) 20%
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110. Under which of the following
situations the current ratio of a firm
will increase?

1. Cash received from debtors

2. Issue of redeemable debentures
for cash

3. Selling the old machine for
cash

4. Converting debentures into
equity capital

Select the correct answer using the
code given below :

Code :

fg 1,2 and 3
{b) 2 and 3 only
{cj 3 only

(d) 2 and 4

111. Which of the following is/are the
objective(s) of Management Audit?

1. To detect errors and frauds

2. To report whether Balance
Sheet and Profit & Loss
Account present a true and fair
view of business

N-DTQ-K-EQO/9A

3. To ensure optimum utilization
of human resources

4. To suggest improved methods
of managerial operations

Select the correct answer using the
code given below :

Code

{a) 1,3 and 4

(b} 2 and 4

fc) 3 and 4 only

(d) 3 only

112. If Sundry Debtors is Rs 15,000; Bills

Receivable Rs 12,500; Cash at
Bank Rs 17,500; Stock Rs 15,000;
Profit Rs 20,000, Creditors
Rs 25,000; Bills Payable Rs 15,000
and Sales Rs 1,00,000, what is the
acid-test ratio?

fa] 1-5:1
(b} 1125:1

(c) 162%

{d) 50%

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers




110. Trafafas sifefet & @ el /il o
B W ] SIS TG AT

1. TR A T&e Wi
2. M ot @ T frine
3. Ut wefia w1 Toe fama

4. o H 3R ot 7w

R Ry = W W WAl W
g :

e

fa) 1,233

(b) wae 2 3K 3
(c) Had 3

(d) 234

111, FrafoafEa 4 @ s9-a1/8 we Jada
1 /% J594 B/87

1. FRA wd wue # gar T
2. Hf¥a # fF ger-w ot ww wE

3R wiE =aEE # gy 3 fsgg
wegf e & an
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3. WD WEIEAl k ITAW I
ghfea st

4, vaufr wfemet ¥ dEw ol
gar

MR e g W oW W o 3w
i :

F

{a) ‘1,331‘114

(b) 23R 4

(c)‘aﬁﬁ\?aﬁtf-}

(d) a3

112. 3 fafay T_w 15,000 To; Wi fE

12,500 %o; &% H THdt 17,500 %o,
®i& 15,000 %o; @M 20,000 o,
ARW 25,000 %o; 37 faeT 15,000 %o
R fawg 1,00,000 %o ®, @ w@-
Tl agoa (Yfee-2w W) =0 7
(@ 1-5:1

b} 1125:1

(c) 1 6%%

d 50%

[P.T.O.
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113. What does a high current ratio
followed by a low: liquid ratio
indicate?

{a) Firm’s inability to collect debts

(b} Firm’s ability to pay off short-
term liabilities quickly

{c) Firm’s inability to clear
inventories leading to stock
piling and stock obsolescence

{d) None of the above

114, When is a highly geared capital
structure beneficial to the interests
of the ordinary shareholders?

{a) The Intermnal Rate of Return
{(IRR) is lower than the external
rate of interest payable

(b} The IRR is equal to the external
rate of interest payable

{¢/ The IRR is greater than the
external rate of interest
payable

(d) Benefit to the ordinary share-
holders is independent of
external rate of interest

N-DTQ-K-EQO/9A
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115, Debt capital is often considered'a

cheaper mode of finance, because
{a) it is easily available

(b) interest on it gets tax
advantage

{c) dependence on"it does not
affect the day-to-day functioning
of business

(d) repayment is easy

116. Mr. X, a partner of X & Co.

(Chartered Accountants), advised
the MD of Z Ltd. to include in sales
orders under negotiations to reflect
a Dbetter financial position for
obtaining bank loan. X & Co. are
the internal auditor of Z Ltd. Which
among the following propositions
regarding the liability of Mr. X is
correct?

{aj X is not liable because he did
not issue any written opinion

(b} X is liable to the management
and not to third partics

fc) X is not liable because internal
auditor must act for the utmost
benefit of his employer

{d) Xis liable since he has acted in
negligent manner and there
has been a failure to act
honestly and reasonably
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113, 39 9% Ed, fem sigew ww 115. =0 G A ¥ | w1 ailenea wE
qTA U@ T Y, F At ar VI WHT SN 8, iR

(a) a%srmﬁmw%
(a} . F° Ft For-ayei F sremdar

(b} T | Ot =9 W W oW owmm

forerar &
(b} ®H R wgFEE Jgaielt @ sy

TR F H g () @ w o, =oem ¥ W
Torarerenal = e o &
c) F F A T B siemw
ST i (d) o g F &
ryafeE & o §
116. X WE Fo (IXE THSIW) & HEPER
(d) I H QS T $ft X3 z fao % MD # F w0 Wh
' B aftes arst fordty fufy afr wiafafidm
FH F fou gl fGwn ot =
e w0 i e 9 X WS o,
z f&e = i Saddas 2t ft X
L ' & T @ e Pefafea & @
114, T 3= fiafe 46 graat anma St P-T TF TR w27

& feat & fore v wmwerh At 27

(@) X it 7Et ¢ s a7 wiE fafaa

fa) Satw wfoemy W (IRR) @ I i firter e feen &

-2 FH ¢
(b) X w&uA & uft 3R @ qwn gl

vl % Wi erft 7
(b) IRR ¥ I S-T F TOE 2 ’
) X =t 7€ & wifs =t aEn-
whiygF w39 fe & |am |m

(c) IRR 34 9@ =O9- & v 2 ¥ fore st & el & 2 2
(d) X 2Rt @ wife R e wef
(d) TET DETURE F1 A AR A6 - o ¢ e davRR 3 fRwl aiE
At i g ¥ HW B | IEF W 8
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117. Consider the following statements :

1. Basic EPS and Diluted EPS are
always the same.

2. Diluted EPS are always more
than Basic EPS.

-

3. Diluted EPS are normally less
than Basic EPS,

4, Diluted EPS may be equal to
Basic EPS.

Which of the above statements
is/are correct?

{fa} 1 and 3
b 2
fcj 3 and 4

{d) 3 only

118. An increase in the gross profit ratio
as compared with that for the
previous period may not indicate

fa) an increase in the sale price
of the goods sold without

corresponding increase in costs

(b} stock omitted from the
inventory at the end of the
period

N-DTQ-K-EQO/9A

fc). invoices for purchasecs-omitted
from the accounts

I -

{d) stock-in-trade at the beginning
valued at a figure lower than it
should have been

119. In funds flow analysis, net increase
in working capital will appear as
{a) sources of funds

(b} uses of funds

(¢} an item in adjusted Profit and
Loss Account

(d) funds from operations

120. What does a high payout ratio
indicate? -

(a) A high EPS .

{b} That the company is earning
high profit

(¢ That management is not
ploughing back enough profits

(dj That management is ploughing
back profits
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117. ﬁmﬁr@arm-wﬁaﬂ'ﬁﬁﬁ ¢ (o) i T SR e & @ g S0

1. ¥¥ EPS T @i EPS 939 (d) Tk =i w1y # s R
- @R ' , hIHd | F T o Al ST
2. wafafim EPS s W@ EPS @
SICER G ]
3. owfifi@ EPS wmr: g9 EPS @ 119, ffy yar fawaww #§, sefa ¢ F %
' %H T B i form w1 wefifa dmf?
4. ERBE EPS, §d EPS % ST 8 (@) Tifr-dw ¥ v #
% £
wdes ol 3 % w-a/ ) TR e A
(@ 133 (o) wHwEfwE w-g1fy ot & w W &
) A
b} 2 ,
_ (d) v=Tet 8w A ¥ ey i
c) 334
(d) %34 3
120. & I= HEHW QG F1 g9iian 87
118. Foell wenafy & whd o g & fa) T3 EPS
T A, TG G EHA AV I &l
et gutar 27
. (b) FEOH S T T @ R
(a) T e & fagha $im o gfy, B
T # 9 ahE & (c} weru iR ew-fafRw ad @ w
R
(b) FAEN F 3 § wih B AergR
H I3t A g (d) v am-fafdn w2
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1. wftgn T €9 % gEE 918, 39 3 wlern githawT Y ueae srava a o e gadt &g faen o, wer
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2. I9i-uAE W WE U W wlew gfeen agsd A, B, C A D agniafy v wu @ g Sl

3. 3@ wiuw g @ oy # feu T owiwE # oangwt wan
agmais faam 2 vhgw gy w ot $o 7 R

4. @ qigw gfeem i 120m(m)ﬁqmﬁlu?&mmﬁaﬁaﬁxmﬁﬁm%|mmﬁ
AR g () R e ) 77 @ v v B g9 |, R o Iw-wrE wosifea s 9wa 81 ARk aee
o o B O ¥ e T wE R, @ oW agw @ sifea S e wETaE o) TR T % fog
WEA T § Yege g B

5. m.mmmmmﬁﬁqmm—mmiﬁaaiﬁm%@@m—mﬁﬁqnqﬁim%ﬁam

6. Wit YN % 216 THA gl

7. 368 wgel T whgw gfaen % fafm goi ¥ s -t W iR A [ #, oMU wawm
- F g YE aRet % agen 39 fem Iw-mw § A d

8. a9 A wh Tgel A IT-TEF F 9y F 9% a0 e F A W HAR IW-uAS A w A 3
IR AT W e gRE & 9 et 3
9. &= FW ¥ fw vIE vlewr gfkEm F o 7 daw
10. e It & forw <us
| wegfs wA-uEt # Tefean g R e mew I e gos R wmem)
(i) We® ¥ % fre =R dwfeaw I ¥ eufiean g weE w\ & fae fiy mo uw em aw & fo v 2y
g fF U 3t w1 ww-TaEd (0-33) e & ¥ § R S|

(i) o 2 Iefean oF § s 3w 2@ B, A W T I wA s, Faf By Il § @ o I ad@
B 8, R oft 3w ww $ fog swfergenr @ I @w 9 e R smom)

(iti) A Iofieam g i T B A e o § sl EfieaR g s i R s , Al wwR & fow
F qug T e som

WE qH ARt T8 T gReret TiA &1 7 6yl AL 99 a% 1 Gt

Note : English version of the instructions is printed on the front cover of this Booklet.
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